Kushiro

x & % NKIERFKR FF 500 m PESE * * *

F12EKLAT7AFIAE—R R — B S

FR27E2A21H(L)~22H(H)
SIBRTH IR RE —F R 7 —M5

Bz | #8 @ No. K 4 Fir = FEWN fHIER . Mm%k RAUb HE
11 4 B 69 BR EHE iR :46.16 1
2 | 2 B\ 625 SR JKBEA  ERRTIIALAE/D :46.41 1
3| 2  # 641 HJ5 KEE = EBTI T RN :48.57 2
4 | 3 B @ 639 MK EX TR :49.07 1
5 3 % 645 HA EF =3I 4917 2
6 | 5 @/ 624 |UA KK BB :49.95 1
7 1 F 611 & ZH[SZ DDEAE/N :50.15 1
8 | 1 =2 66 |IUA EAX B RIBT S ALAET/D :50.20 2
9 | 4 % 63 HE @ SRR :50.40 2
10| 1 #% 638 LtH =¥ AZE AL/ :50.41 3
11| 1 B 643 RIIE K[E EERNER :50.50 4
12| 4 % 613 KA &3 EEBIE/ :50.53 3
13| 5 % 612 AH $F B SIS/ :50.97 2
14| 2 =  sa4a KB FEH EERNER :51.21 3
151 2 & 617 {FiE BE JL B/ :51.72 4
16| 2 ®& 627 {EE M B 2 BT AL/ :51.76 5
17 4 =2 633 $8 &A R B BT 5@ B/ :52.39 4
18| 3  ®& 62 FAIJE BRI :52.58 3
19 | 5 % 610 HRIE FEX SEREZ A/ :53.14 3
20| 5 = 637 WEF XHE FAZiR )N 53.23 4
21 | 3 = 623 fEAE @B S B :55.73 4
22| 4 & 618 LE EE SRR :55.97 5
23| 5 & 628 MM F Z I :55.99 5
24 | 2 # 622 TEM & HIFRERL /N :56.16 6
25| 1 & 620 fxA EAHE e :56.53 5
26 | 2 * 635 Z=;A KK BE/INER :56.71 7
271 1 & ea2 D RER R3E R RN :56.82 6
28 | 5  # 616 ANH FRIE I RRETE [/ :56.82 6
29| 5 =z e91 AEEEA LRERN :56.94 7
30| 4 # 632 UK BE TN TR :57.80 6
31| 3 & 634 MEE A BB/ :58.81 5
32| 1 % e FiF KB =B JIN 1:00.69 7
33| 3 % 615 FE [ I RRET = F /1N 1:02.37 6
34 | 4 x 614 TR X FiF GEF T 1:04.17 7
35| 3 =2 631 INE BE EbEJIN 1:07.49 7
B AR EEE

Lz —:[ FH B2 ]

F—IR3A4ALF—N—:[BF E2]

CHR B R [ WM& X ]




